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CERTIFICATE IN POULTRY FARMING
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Term-End Examination

June, 2010

OLPI-002 : POULTRY FEEDS AND FEEDING

Time : 2 hours	 Maximum Marks : 50

Note : Attempt any five questions. All questions carry equal

marks.

1. Match Column A with Column B :	 10x1=10

(g)

Column A

Calcium

Sodium

Iron

Iodine

Vitamin A

Vitamin E

Benzene
Hexachloride
(BHC)

Aflatoxin

Adlibitum
feeding

Phase feeding

Column B

Layers

Dryness of Eye

Fungal toxin

Broilers

Anaemia

Enlarged thyroid

Osteomalacia

Pesticide

Crazy chick
disease

(x) Cannibolism
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2.	 Define the following (any ten):	 1x10=10

Phase feeding

Prebiotics

Adsorbents

Popping

Adlibitum feeding

Probiotics

Feed Conversion Ratio (FCR) in broilers

Controlled Feeding

Acidifiers

Antibiotics

(k)	 Restricted Feeding

(1)	 Balance Ration

(m)	 Grinding

	

3.	 (a)	 Define nutrients. What are the common 2.5
nutrients present in the feed ?

Name any two common energy sources. 2.5

Give their protein and energy content.

Name any two unconventional animal 2.5

protein sources. Give their protein and
energy content.

(d)	 Name any two common vegetable protein 2.5

sources. Give their protein and energy
content.
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4.	 (a) Discuss about the commercial mineral 2.5
mixture.

Discuss any three mineral deficiency 2.5
diseases and their causes.

What are the common sources of Vitamin B 2.5
complex ?

(d) Discuss any three Vitamin deficiency 2.5
diseases and their causes.

5.	 Write short notes on any four :

Feed Additives

Aflatoxins

Prevention of mycotoxins

Endogenous toxins in feed

(e) Antioxidants

4x2.5=10

6.	 (a) Discuss about the nutrient requirements of 	 2.5
layer chicken.

Discuss about the pellet form of feed. 	 2.5

What are the different types of packaging	 2.5
materials used for packaging poultry feed ?

(d) What are the advantages of pelleting ? 	 2.5
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7.	 Write short notes on any two :	 2x5=10

Feeding of birds during cold weather

Feeding management of ducks

(c) Factors affecting feed quality

	

8.	 (a) A feed mixture containing 19% crude	 5
protein has to be prepared using maize
(CP=10%) and groundnut cake (CP=42%).
Calculate the amount (parts) required from
maize and groundnut cake by pearson
square method.

(b) Calculate the following :

Feed efficiency (Egg Mass/Feed)
	

2.5

Assumptions :

Feed consumed = 4.8 kg

No. of kg eggs produced =1.7 kg

Feed Conversion Ratio (FCR)
	

2.5

Assumptions :

Feed consumed = 2.4 kg

Body weight gain =1.6 kg
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4.	 (a) cfirulki ct)	 fi:Ntrf *WTI 4	 Wir-A71	 2.5
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4x2.5=10
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(d)	 TEIT t?	 2.5
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7.	 &77# 1:17 14Ott	 fl :
	 2x5=10
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(b)	 Pp-1rd	 fig cr 	 ,ARenroci	 r	 :

(i)	Ln1s	 TR-TITM (31t1 q0q4-111/71-g)
	

2.5

3M1TPTIT :

3179?1 4115= 4.8 ft.M.

3-0:1Tfff 31t f*.111A Weir{ .97 = 1.7 ft.T.
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TIT?! kb1 5 = 2.4 ft.7T.

3fTtil tK W = 1.6 ft.VT.
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